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FEA wER 12%@2%#@%:12%?% = ‘it 12%BRIBHE 12%BRBHE 12%FRIBE (120 BERE | 12%HMRIBE|12%EHRE
g/ m°N volppm m°N/h volppm mg./m°N volppm volppm pg” m°N pg” m°N pg” m°N
588H 5826H <0.002 11 0.17 0.040 53 3 2 <10 - - -
7H18 78228 <0.002 8 0.13 0.031 56 5 3 <10 0.12 0.0047 0.11
9F1H 9818H <0.002 10 0.17 0.039 56 4 2 13 - - -
11848| 118208 <0.002 6 0.11 0.026 55 3 1 12 - - -
18168 2858 <0.002 6 0.084 0.020 51 3 2 <10 0.11 (0.0001) 0.11
3H82H| 3A19H <0.002 8 0.12 0.029 53 3 1 <10 - - -
F B 0.002 8 0.131 0.031 54 4 2 11 0.12 0.0024 0.11
FRHE =0.08 =1.405 =234 =250 =700 =430 =100 =50
EIRE =0.01 =20 =80 =20 =30 =50
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ol *ﬁﬁ 0, :%]E = 0, 0, 0, 0, 0, 0,
E A wER 12%BRIBE TR ERE = ‘it 12%HRBE 12%BRBE 12%EERVE (120 BFHIRE | 12%FBRIBE|12%EERHRE
g/m3N volppm m°N/h volppm mg/msN volppm volppm ug/m3N ug/m3N ug/m3N
5H8H 5826H <0.002 11 0.17 0.040 55 6 4 <10 - - -
7H18 78228 <0.002 8 0.12 0.028 55 6 3 <10 0.28 0.0007 0.28
981H 9818H <0.002 10 0.15 0.034 55 5 3 <10 - - -
118278| 128148 <0.002 9 0.15 0.035 52 2 1 15 - - -
18168 2858 <0.002 5 0.079 0.018 50 4 2 12 0.15 <0.0001 0.15
3H2H 38198 <0.002 5 0.081 0.018 55 2 1 <10 - - -
F 0.002 8 0.125 0.029 54 4 2 11 0.22 0.0004 0.22
FRHE =0.08 =1.405 =234 =250 =700 =430 =100 =50
EIRE =0.01 =20 =80 =20 =30 =50
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